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1. g -, - gﬁ%ﬁ%mﬁ%lmﬁqﬁwﬁmmq@mwﬁﬂﬁmml

The guestion paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. OMR itz W fu 7 figraat =) sargees afgul st 3l = fafa @ aur OMR e o ferat aun wifén femia < forg
el wicl WIS Ferd (hTen a7 -fie) =1 g W | '
Read the instructions on the OMR sheet carefully. Use only ball Pomt Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.

3. Mmﬁnﬁﬁmﬁﬁ%%@aﬂdﬂ@wmwmOMRwsﬂzﬁmwmﬁwaﬁwﬁxm%@ﬁﬁ%%ma
OMR 3T Iz 1 %S q2im et OMR 3ot i <! flterer =1 & o g0 wfaferfd =6 sy g wd)

A separate OMR answer sheet with carbon impression is provided fo all the candidates for answering. On
completion of the test tear the OMR Answer sheet aleng the perforation mark at the top and handover the
ariginal OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. gedeh aegE e o Tor R st/ st oft snawres @, amagwﬁrq’r(a), {b), (c) 3T {d) & G fsr g ey
© ST O e U el

Each objective question is provided with a text and/for figures wherever applicable with multiple answer
choices (a), (b), (c) and {d). Only one of them is correct, :
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ST &Y Iy sttt sreeht et wger 7 ol & wner g, e

If two thermodynamic systems are each in thermal equilibrium with a third,

{a) ElGicificn E{ﬂ}ﬁ & Ty of o H@?FT T 8t & / 'Then they are in thermal equilibrium with
each other

(b) EEEEIReD Gfﬁ ¥ are ot el H@FF( # € 81l & / Then they are not in thermal equilibrium
with each other ‘

© ol ofit guh wh-g % @ enfe e ¥ el €t @ / Then first and second are not in
thermal equilibrium with each other '

(d) Eﬁﬁ i fowdl o aﬁ % Oy 9 ITQFF[ o el gt ® / Then second and third are not in
thermal equilibrium with each othey '

- AR R g o @ e e

Find out the Temperature scales from the given list.

(a)  %erdle/ Fahrenheit (b) ufcwud / Celsius

©  ThRTatsedq/ Rankine and Kelvin  (d) 3% i/ All the above

Ifipsila wreshet W <2 wmeaeE o Swfid 2

In a refrigeration cycle, the Joule Thomson effect is applied in

(a)  +Etd/ Compressor (h) F==LH/ Condenser

(¢) TRt / Expansion Valve () wrde § 7 Evaporator

FIHIRE QAT STR 71 o H ek gl drdaTIes! S = e Al # S vk gl § 99 hed @

The difference between temperature of air recorded by a normal thermometer and
thermometer covered with wet cloth, is called

(a)
(b)
(©
(d)

et sed ariHE / Wet bulb temperature
H@T desl YHR / Dry bulb temperature
3THTeR TT9AT / Dew point temperature

T ool T / Wet bulb depression
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The ratio of actual mass of water vapour in a given volume of moist air to the mass of water
vapour in the same volume of saturated air at the same temperature and pressure, is called

(a) T 3TgeTd / Humidity ratio () Tafme 3 / Specific Humidity
{c) e medr / Relative Humidity (d) Eiﬂ'ﬁ'mﬁ%!ﬁf Degree of saturation

e i ool S e Pt 3 e el o R

The condition of refrigerant after passing through the condenser, in a vapour compression

~ gystem is
() g@iEm™/ Dry vapour

TE-06

by =T/ Wet vapour
(cy TATE gl 859 / High pressure saturated liguid
(&)  erdriflanama/ Very wet vapour

e o e ——

One ton of refrigeration corresponds to

(a) 50 keal/min (b) 12000 BTU/hour

() 35kW (d) SHwmEI/ All the above
Tyt o e vl =g YU S Rl T

In aiveraft, air refrigeration cycle is used because of

(a)  F=IWAT 3Tqwor €t/ High heat transfer rate

(by ~ TaTEH <61 I=F wEnuiEk / High co-efficient of performance
(e T 34 90 3= 3WidT / High temperature at High Altitude
(d) ST 7 & i€ 7l / None of the above

4 March 2019
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10°C Y@ el qramraret ararerelia g=r 40°C a9t W@l an el J wfae Bid 21 8= 26°C WA

ATl 2| 36 TH T3l hT TTEITH HReh BT
The atmospheric air with dry bulb temperature of 10°C enters a heating coil maintained at
40°C. The air leaves the heating coil at 26°C. The hypass factor of the heating coil is

(a) 0.25 (b) 050
©  0.75 () 0.66

wefia woref) 1 axelichd evrdr <l g H i s —— Rt )

Ina refrigera.tion system, heat absorbed in comparison to heat rejected is

(a) A/ lLess

(b)  <UIsr/ More

{©) HEM / Same

(d) <Y &Ha W SIEr 3TN arfier aar W A ‘/ More for small capacity and less for high

capacity
[EREIECE B
is not an insulator.
(2) sk /Ice (b) T/ Rubber
(¢ @@/ Copper () felerd / Ashestos

e <l 1 o wae W il 3 Sera T ST B 87
Highest heat transfer takes place through which side of the walls of a building.

(a) tﬁ i TR ) i / Bast facing wall (by  afgem ht 3T HT R/ West facing wall
{c) ?ﬁﬁﬁ St e/ North Tacing wall (d) g7 &t s = ffent / South Facing wall

5 March 2019
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The advantages of the Scroll compressorsr are
(a) = fammer srlemer / High Volumetric efficiency
{(b) a1} TRl & arvya =9 wadeiie / Capacity is less sensitive to outdoor conditions
(¢) grom, EEEf TS 3T HTT / Compact, low noise and vibration
{(d} IYUE H‘lﬂ/ All the above
14, TSI SR A 8
Temperature is a measure of
(a) - arel % il <R sfhaa RSt et / Average Kinetic Energy of particles of the substance
{h) IwurT 37T / Heat transfer
(c) @ISl / Sum of Heat
(d) IH I 4 =iE T8l / None of the above
15. ol awr & TS e
Absolute pressure is measured from
{(a) ‘{P’fﬁﬁﬂcﬁ/ Perfect Vacuum () TIEE / Gauge pressure
(c) AT 21 / Atmospheric pressure {d) Iy o 9 1S 981 / None of the abové
16, wrared sy andir it i wed 8

TE-06

Enthalpy of a substance is known as
(a) w2t/ Entropy
(©)  3wal %1 AT / Total heat

(b)
(@

a3 / Internal energy
eiet &gl / Thermal capacity

March 2019
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17.  wg COPR
Relative COP is
(a)  Iourdr Frerrd /w e / Heat removal / work done

(b) dgifeer COP/arad COP / Theoretical COP/ Actual COP
(©  an&e COP/ d4ifiee COP / Actual COP / Theoretical COP
(d)  IWHEHT/ Above all

18.  yufieen o fiae et /i gEa
Formation of frost on a cooling coil in a refrigervator
{(a) IR AT @] & / Increases heai? transfer
(b) Sl o =TTl & / Reduces power consumption
{c) o1l @Ua weTl € / Increases power consumption

(@) st/ Above all

19, gar Rl g qiae h gt freferfiaa 4 @ s aear 27
During sensible heating of air, which of the following decreases.

(a) H@Tdes dMAM / Dry bulb temperature (b)  iiar e qEE / Wet bulb temperature
(¢) @me arsdl / Relative humidity @ fafire argar / Specific humidity

20, 3w T v e HeEm arqT +27 Fert Aot o arediemnen e —13 Rl e e 8, @
il COP R

If a heat pump cycle operates between the condenser temperature of +27 deg Celsjus and
evaporator temperature of —13 deg Celsius then the Carnot COP will be

(a) 6.5 by 7.5
(c) 1.93 (d) 0.675

TE-06 | 7 March 2019
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21. Tl o & 9 A 119 9 W yiideE o o = S e?

The Selection of cooling tower is based on which of the following parameter

(a) TEIRI 3791 U / Dew Point temperature of air
(b) &1 = i sted TUAH / Wet Bulb temperature of air
(c) BT R @ ed A / Dry Bulb temperature of air

(d) &1 H IEEHR @94 / Atmospheric temperature of air

922. oo sl ot i R § @ o ar i s E?

In Vapour Absorption system normally which are the following refrigerants used
()  HeM-22 2 tﬂ_7ﬁ/ Freon-22 and water

M - COz 3 9HY CO2 and Air

(¢)  emfan 2/ Ammonia and water

(d) SWEH 4 % TE / None of the above

23. i Er it Sieid g gaTea 17
Which refrigerant has highest Ozone depleting potential?

(2) RNl WEMeR W99 (COLT) / Trichloro monofluoro methane (CCLF)
(b) SRR AAER W99 (CHCLFY) / Difluoro monochloro methane (CHCIF:)
(¢) R (NHs) / Ammonia (NHs)

() e SERRTES (C02) / Carbon di oxide (CO2)

24. R and AC 47 ST ST dI91-erh YR
Fault finding device used by R and AC technician is
(a) Begeefd / Halide Torch () TedHiet / Multimeter

(cy  am@s/ Thermometer () SaUEh &t/ All of above

TE-06 8 Marxrch 2019
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26. @i ot Tefiass woneft F weltaer qar ar swifid A gtar?
In which refrigeraiion sysfem neither refrigerant nor water is used?

(a) TSI EFREEH / Vapour compression by @y ENey / Vapour absorption

(¢)  aTsdieRies Sfiaad / Evaporative cooling  (d) Qﬂﬁﬁlﬂﬁ / Thermo electrie

26, el el i i FefiRad i & o e R et 27
In the evaporative cooling process, which of the following process takes place?
(a) SRR/ Flumidification
| (b) T / Dehumidification
(¢) e Tt HuEeer / Heating and dehumidification

{d) fferer Tem AT / Cooling and humidification

27.  IWANYY ASE e ST gASE
Coefficient of performance of heat pump is always

(a) wH @ % / less than one (b) U UHH / equal to one

(¢) UH TR/ greater than one (d) 39U A W hlE TEl / none of above

28. o7 FINIETh H 3fEehdy @ ST &

The maximum femperature in vapour compression cycle oceurs at

(a)  Feeu bl Fsprefl 8 / Exit of Condenser (b) S0 ad B/ Expansion valve

(¢) =i W/ Evaporator () T et 7/ Compressor discharge

TE-06 9 March 2019
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29.  itdeR dIATE AE dardH s st

Critical temperature is the temperature above which

(a) Ay ERd BT/ Gas will never Hquify

(b)y AR B/ Gas will immediately liquify
{c) WWW@W / Water will evaporate

{d) IRFETH ﬁﬁ et / None of the above

30.  hotR Sy wefice wonreh § Fore 39 SR Gl S S

The leaks in a refrigeration system using Freon are detected by
(a) T#/Odour

(b) | Fif¥rpreh UM T / Using reagents

() EER U b / Using Sulphur sticks

() eergEIEER/ Using Hélide torch

31, syvEry v Tonel & R Sier Al o semat 59 S ©

For ammonia refrigerating systems, the tubes of a shell and condenser are made of
(a) T/ Copper (b) I/ Steel
(c) ﬁ?\{ﬁﬂ'ﬁ’q / Aluminium - (@) T/ Brass

32, we-gui velias Gqu A @ e el ol @ s 8

The process of cooling the refrigerant below the saturation temperature in a condenser 1s

called
(a) YT EET/ Super-cooling (b) m—ﬁﬁﬂ / Sub-cooling
{c) HHFY {Gﬁﬂ / Normal- cooling (d) TR/ Hyper- cooling

TE-06 10 _March 2019
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33.

34.

35.

36.

TE-06

QI ST ST 1 hl qX eitaeh <t sy arfieres Iovrar

Latent heat of vaporisation of a refrigerant on lowering the temperature and pressure

(a) Wl 2/ Decreases (b) TErwEdt?/ Remain same

(¢) et/ Increases () I9U® U A HS T / None of the above
STHRTT 6T W @ Sed dIaE

During humidification process, dry bulb temperature |

(a)  wedrd/ Increases (b) feRwag/ Rerﬁains constant |

(c)  ®dArE/ Decreases (d) “Rdre/ Varies

I A 40 kg T & 30°C ¥ 70°C W 7 o @ 8 a8 Frell soorr envoll (srg of) Ry seomar

0.85 keal/kg °C)
If we are heating 40 kg of liquid from 30°C to 70°C how many keal of heat required (specific

heat of liquid is 0.85 keal/kg °C)

{a) 1360 (b) 1600
© 2380 (@ 3750
T e ATt hi <k il quifeft &
The curved lines in the psychrometric chart indicate
(a) HTET&T_@FI 21 / Relative humidity (b) ST d9H / Dew point temperature
(¢) [owr amsan / Specific humidity (d) g@ETsed aaE / Dry bulb temperature
11 March 2019
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37, walat 93 o fore weflaen w1 snaees qued =nfed
The desirahle property of refrigerant for a refrigervator should be with

(a) WAL 3WidT / Low sensible heat (b) =RTEIE 3w/ High sensible heat

{c) A& TR 399al / High latent heat (d) =FH 396 3WTdT/ Low latent heat

38, 100% TEr ITSar ad el siesl auHE, A auHha Y —— Sre|

The wet bulb temperature at 100% relative humidity is -————— dew point

temperature.
(a)  UHIH/ Same as : by ="/ Lower than
(¢} =T/ Higher than (d) IHIHH Y HE T/ None of the above

39.  Treaforfa o @ lar seftass s fedefl qurend 87
Which of the following is adverse property of a refrigerant?
(a) 3= ﬁ%ﬁaﬁ%@r / High' miscibility
(b) A TR/ Low boiling point
()  oF=a0 ﬁ@%ﬁlﬁ%/ Good electrical conductor

(d) wEI 7=k 39T/ Large latent heat

40, ST AT STH ST @ e S8 ST -
When water freezes its volume

(a) ©2T e/ Decreases (b) s&dr®/ Increases

(@) f@R®EAE/ Remains constant (@) slwda %18 7al / None of above

TE-06 12 ' March 2019
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41, RO (3/4)" NPT, T HET (1/6)° WY 7 31 8, ) 50 U (4/3)" wriy

If (3/4)t of a number is 7 more than (1/6)™ of the number, then {4/3)1d of the number is

() 16 ®) 12
(e} 20 @ 15
H -1
42, g_i&sgﬂ TR

gi “; is equal to

(@ 1 b)) -2

© -1 @ 2 ' |

3 _ 1 1
43, Wa=(2+1) b= ({2-1) @ @) G F A 2

1

Ha= («/5+1), b= (\/5—1), then the value of G—‘l;l_)eris '

@ 9 ) 3
€ 2 | @ 1 |

44, IR m, n, o AT TN R, ao Feiafaa 7§ 8 wrad 37

It m, n, o are in geometric progression, then which is true among the following?

{a) n="2 2+ 2 ’ ® m?=no
© n=+vmo @ Z-2
o n

TE-06 13 Marech 2019
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15.

486.

47,

AR tan A=cot B, G A+ 8="

If tan A =cot B; then A+ B =7

(a) 60° (b)y 90°

(c)  4b° , (d) b55°

e 7 foha forpof g 87

How many diagonals are there in an octagon?

(a) 8 () 16

(@ 18 (@ 20

3T e 1ig ) Brwar g i S B, 7 Hag o e &

If the radius of a sphere be doubled, the area of its surface will become

(a) g1/ Double (b) dFTAT/ Three Times
(o) AR/ Four Times ' (& AL/ None

48,

TE-06

T Tid Uedt, A B 30 &7 B 30 & 3rguid § 8:13 o) 3T TOuT 3H 1 3guTa b:7 ¥1 e dF At
T 2g Ghaf geft?
Eighteen years ago, the ratio of A’s age to B's age was 8:13. Their present ratio is 5:7; What

iz the present age of 4. ‘
@ 60 ® 70
© 50 @ 40

14 March 2019
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49.

50.

51.

b2,

TE-06

&

A (3%9) 47 = 250; T xR

1t (37°%)+7 = 250; then x is equal to

(@) B b) 2

) 3 dy 1

(0,3) T (4,0) 37 Frwien! % ofter foherr afar 87

What is the distance between the coordinates (0,3) and {4,0)?
(@ b | by 7

@ 1 D)y 12

Frartar g foig & uek e, wenedien Wi 9Tk W g we wrer A T s ast st W e s i ?
A feather, a plastic ball and a steel ball are dropped simultaneously from a common point in

vacuum., Which ene will touch the ground first?

(a) wITE/ Steel Ball

(b) 4@ /TFeather

(¢) I g / Plastic Ball

(@  a+fi v g ol / All will veach at the same time

wk T e w qd 6 2k 6.4 Freiier 30 el A o e ¥ de SeeR oR Reeivier wfwer 3
feqaram?

A man takes 30 minutes to cover a distance of 6.4 kilometers due east on a bicyele, His

velocity in kilometers / hour will be
(a) 3.2 {(by 12.8
(e) 25.6 . @ 6.4
15 Marech 2019
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63.  19.62 whet Sl Raeehl & weh Tia 2 her at 3@ wefir o w5 Tordh fomarr s o ?
A ball is dropped from a window of 19.62 meters high. How long will it take to reach the

ground?
{a) 1 sec (b) 4sec
(c) 2 sec {(d) 0.5sec

54. g o R gor H ST T e FEiE
In comparison to pure W'ater, Boiling point of impure water
(a) GBI / is same -
(b) ¥R/ increases

{c) §¢T / decreases

(d) Ul R T se™ / first decreases then increases

55.  ifes gl ol Tesrdst St ot StEHTE 2
Ratio of Kinetic energy to potential energy is

()  v'/2gh (by gh/2”

{c) mgh - (d  mo® / 2

56. e sl & e are 3 T
As temperature rises, particles of matter
(a) o =eTd & / Move faster .
(b it =erd & / Move slower
(c)  AMHH Hged O 1S siqera 8l €l / No change w.r.t temperature

() IR A G 1S TR/ None of the above

TE-06 16 March 2019
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57.  derehl &t A 5 ferd Feforfiaa 18 s wr swsmor sy 27

Which of the following instrument is used {o measure magnetic field?

(a)  AYATSH / Thermometer (by Il / Flux meter
@© 9/ Pyrometer (d) et/ Hygrometer
58.  HelTesh | Hetd o e g Pfifa o ek
Heat produced due to flow of current through a conductor is given by formula
Vi
H = I*Rt b S
(a) (b =
© H=Vi (@ Al of the above

59. Ry vETs =t faun
Direction of flow of current is from

(a) FHTTey efiiTe § g-icaeh 2fifrer 6 F/ Negative Terminal to Positive Terminal _
(b)_ EHTCHS Eﬁ?ﬁr O FrnTedeh it o1 37/ Positive Terminal to Negative Terminal
(¢  dHi/Both

@ s AR 12/ None of these

60. e} v UEh AR] IS 600 N 2, O SuehT wia Was fhaqr g
The Weight of an object on Earth is 600 N. What will be its weight on moon?
(@) ON (b) 600N
() 600N WhH/Less than 600 N (d) 600 N¥ 31k / More than 600 N

TE-06 17 March 2019
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10.

Hﬂ?a@ﬁﬂwﬁma’i%w%%ﬁmﬁwéﬁqmm,aﬁqéﬁmvﬁaﬁtwm%ﬁ%q@ 31 I
ST | fotft et 3 FoTe s1g 3T 31 AT SR S

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

ust gfeerR <6l el S BRI T A T B A ¢ Wl D e e a8, Rl OMR e w, fese i fevrn
gt e T AT B ) BT T ) T, SRR eaisnet e ke s

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

_ aﬁawmasﬁ‘eﬁ,a}g@fﬂﬁmﬂwwﬁa@w%%{qwmwm%twﬁmﬁﬁmml

Space availabie in the booklet could be used for rough work, if required. No separate sheet will be provided.

SofEfy it T T A wedt, qlanelf o Sufef wile w g s Rremr g wiaeff @ s S o ae
SIS B

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

a1 & 37 (1) Biet wiga i wien e ™ (2) OMR 35 3fie w1 Fidiaes =51 amoe < o fomelt off afterfy
Fufteneff 38 7 @ =) '

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

it wpieroor & Tl S el o el of wieeran/ Bare €8 o vt 7, Sl wula e S A S|

In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, Engiish version shall

finally prevail.
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